MOUNTING EXAMPLE

TO CONTROLLER BLUE
CLAMP <(ZONE D

TO CONTROLLER YELLOW
CLAMP (ZONE 2>

TO CONTROLLER WHITE
LIFTER <ZONE 3>

TO CONTROLLER BLACK
CLAMP (ZONE 4>

YELLOW
CLAMP

BLACK
CLAMP

WHITE
LIFTER

BACK OF
CONTROL UNIT

AIR INLET

RAM MAIN CLAMP (RMC>

TO CONTROLLER BLUE
CLAMP (ZONE D

TO CONTROLLER YELLOW
CLAMP (ZONE 2>

TO CONTROLLER WHITE
LIFTER <ZONE 3>

TO CONTROLLER BLACK
CLAMP (ZONE 4

BOLSTER MAIN CLAMP (BMC)

DI—4X4S—3DL INSTALLATION KIT

DDDQDD

RMCZ2L(1)

RMCZ2_4\

J U

RMCZL A A A

RMCZ2R<1) ]

] PRA-ACC
LLUSTRATION arv [ e DESCRIPTION ILLUSTRATION oy | e DESCRITION
NOTE: HOSE AND LOOSE
13 | Howese MANFOLD, FULL ASS'Y T PP Iy
BULK, HOSE ASSEMBLY/
BOM (EACH) FABRICATION BY_CUSTOMER|
AT THER FACILTY
1 | He10680 | wANIFOLD XX = LENGTH IN INCHES
3 | Frooote STRAIGHT
1 [Fro18ss | CAP, 37 RMOZ1-XX 1| 14400-xx XX =
RMCZ2-XX 1| e X =
RMCZIR(D-XX | 1 | 14408-xx XX =
2 | FAB0z00 | 1/4-20 HEX ScREW
X1 1/4° LG I [ 1 | 1449-xx X =
RMCZZR()-XX | 1 | 14408-xx XX =
macz2L ()3 [ 1| 144e-xx X =
1 HC10080 MANFOLD, FULL ASSY
ROR(1)-3X 1| 144ee-xx XX =
BOM (EACH) ROR(2)-3¢ 1| 1emexx X =
ROL(1)-XX 1| 144ee-xx XX =
1 | uet00s0 FOLD
4 CONNECTOR, ELBOW 90 RCL(2)-XX 1 14499-XX XX =
4| FRO%E | SRRNECTOR: Soow. 4o BMC—XX 1| e | =
2 | 2214783 | STICKER. BLUE BMCR(1)-xX ! 4dam-xx o=
2 | 2214702 | STIGKER, BMCR(2)- - -
2 | 2214794 | STICKER, WHTE x V| e X
0 2 | 2214791 STICKER, BLACK BMCL(1)-XX 1 14488-XX XX -
1] BMCL(2)-XX 1| 1440xx XX =
O BOR(1)-3¢ 1| 1esemxx XX =
(0] BOR(2)-3X 1| 1se-xx XX =
BOL(1)-xX 1| 1esemxx XX =
2 | Fas0224 1/4-20 HEX SCREW BCL(2)-XX 1 14489-XX XX =
\\ X1 1/2° oG DRM—XX 1| 1esexx XX =
DRMR(1)-3X 1| 1esemxx XX =
DRR(1)-XX 1| 14400-xx XX =
DRR(2)-3X 1| 1esemxx XX =
oﬁ 14 FAOB237 DOUBLE JFFY CUP DRRG)-x 1| e o=
[
NOTE: WHEN SHIPPING BULK HOSE AND FTTTINGS,
SEND THE FOLLOWING QUANTITY OF ITEMS;
HOSE, PART #H014500, 190 FEET
FITTINGS, PART #FF14502, 52 PIECES
@ 18 FA0S768 JIFFY oLP
(NOT SHOWN)
HOW TO MEASURE HOSE LENGTHS:
30 | FASO408 1/4-20 BTHD SCREW
% x 3/8" LONG

(NGT SHOWN)

RMCZ1L<1)

BMCLCL

LA BMC

DRM

B

BM

BMCL(2) CAP
B BOLSTER
BCL(1 BCL(2>
AMP| LAMP|
LAMP) CLANP)
BCRA BCR
B B
ICRC1D. > MCR(¢2 CAP
5 :
7]

RMR¢1Y”

m
»”
W
@X3AT
[(3EE]

IMPORTANT: LEAVE ROOM FOR PRESS AND CLAMP MOVEMENTI

—4AX45—5DL

PFA, INC.
— Nie yises g, D, IV i Stee
ENTS, INSTALLATION KIT
ior 1 | ™ proax4s-3DL



AutoCAD SHX Text
MOUNTING EXAMPLE

AutoCAD SHX Text
13

AutoCAD SHX Text
HC14649

AutoCAD SHX Text
B

AutoCAD SHX Text
MANIFOLD

AutoCAD SHX Text
CONNECTOR, STRAIGHT

AutoCAD SHX Text
FF00019

AutoCAD SHX Text
HB10680

AutoCAD SHX Text
P/N

AutoCAD SHX Text
PFA-ACC

AutoCAD SHX Text
%%UDI-4X4S-3DL INSTALLATION KIT

AutoCAD SHX Text
ILLUSTRATION

AutoCAD SHX Text
QTY

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
PFA-ACC

AutoCAD SHX Text
P/N

AutoCAD SHX Text
ILLUSTRATION

AutoCAD SHX Text
QTY

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
%%URAM

AutoCAD SHX Text
%%UBOLSTER

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
NOTE: HOSE AND LOOSE

AutoCAD SHX Text
FITTINGS SHIPPED IN

AutoCAD SHX Text
BULK, HOSE ASSEMBLY/

AutoCAD SHX Text
FABRICATION BY CUSTOMER

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
RAM MAIN CLAMP (RMC)

AutoCAD SHX Text
BOLSTER MAIN CLAMP (BMC)

AutoCAD SHX Text
RMCZ1

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
CONNECTOR, ELBOW 90%%D

AutoCAD SHX Text
CONNECTOR, ELBOW, 45%%D

AutoCAD SHX Text
MANIFOLD

AutoCAD SHX Text
FF00070

AutoCAD SHX Text
FF00083

AutoCAD SHX Text
HB10050

AutoCAD SHX Text
1

AutoCAD SHX Text
HC10050

AutoCAD SHX Text
FA80200

AutoCAD SHX Text
2

AutoCAD SHX Text
1/4-20 HEX SCREW

AutoCAD SHX Text
x 1 1/4" LONG

AutoCAD SHX Text
C

AutoCAD SHX Text
CAP, 37%%d FLARE

AutoCAD SHX Text
FF01835

AutoCAD SHX Text
1

AutoCAD SHX Text
FA80224

AutoCAD SHX Text
1/4-20 HEX SCREW

AutoCAD SHX Text
x 1 1/2" LONG

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
14

AutoCAD SHX Text
DOUBLE JIFFY CLIP

AutoCAD SHX Text
(NOT SHOWN)

AutoCAD SHX Text
FA06237

AutoCAD SHX Text
D

AutoCAD SHX Text
XX = LENGTH IN INCHES

AutoCAD SHX Text
RMCZ2-XX

AutoCAD SHX Text
RMCZ1-XX

AutoCAD SHX Text
RMCZ1R(1)-XX

AutoCAD SHX Text
RMCZ1L(1)-XX

AutoCAD SHX Text
RMCZ2R(1)-XX

AutoCAD SHX Text
RMCZ2L(1)-XX

AutoCAD SHX Text
RCR(1)-XX

AutoCAD SHX Text
RCR(2)-XX

AutoCAD SHX Text
RCL(1)-XX

AutoCAD SHX Text
RCL(2)-XX

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
HOW TO MEASURE HOSE LENGTHS:

AutoCAD SHX Text
XX

AutoCAD SHX Text
BOM (EACH)

AutoCAD SHX Text
BOM (EACH)

AutoCAD SHX Text
MANIFOLD, FULL ASS'Y

AutoCAD SHX Text
MANIFOLD, FULL ASS'Y

AutoCAD SHX Text
%%UIMPORTANT:%%U LEAVE ROOM FOR PRESS AND CLAMP MOVEMENT!

AutoCAD SHX Text
CONTROL UNIT

AutoCAD SHX Text
BACK OF

AutoCAD SHX Text
AIR INLET

AutoCAD SHX Text
BLUE

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
YELLOW

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
WHITE

AutoCAD SHX Text
LIFTER

AutoCAD SHX Text
TO CONTROLLER WHITE

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
E

AutoCAD SHX Text
(NOT SHOWN)

AutoCAD SHX Text
30

AutoCAD SHX Text
(NOT SHOWN)

AutoCAD SHX Text
1/4-20 BTHD SCREW 

AutoCAD SHX Text
x 3/8" LONG

AutoCAD SHX Text
FA30406

AutoCAD SHX Text
16

AutoCAD SHX Text
JIFFY CLIP

AutoCAD SHX Text
FA05768

AutoCAD SHX Text
F

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
LIFTER (ZONE 3)

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
RMCZ2

AutoCAD SHX Text
BMC

AutoCAD SHX Text
BMCR(1)

AutoCAD SHX Text
BMCR(2)

AutoCAD SHX Text
BMCL(1)

AutoCAD SHX Text
BMCL(2)

AutoCAD SHX Text
BCR(1)

AutoCAD SHX Text
BCR(2)

AutoCAD SHX Text
BCL(1)

AutoCAD SHX Text
BCL(2)

AutoCAD SHX Text
RMCZ1L(1)

AutoCAD SHX Text
RMCZ2R(1)

AutoCAD SHX Text
RMCZ2L(1)

AutoCAD SHX Text
RCR(2)

AutoCAD SHX Text
RCL(1)

AutoCAD SHX Text
RCL(2)

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
BMC-XX

AutoCAD SHX Text
BMCR(1)-XX

AutoCAD SHX Text
BMCR(2)-XX

AutoCAD SHX Text
BMCL(1)-XX

AutoCAD SHX Text
BMCL(2)-XX

AutoCAD SHX Text
BCR(1)-XX

AutoCAD SHX Text
BCR(2)-XX

AutoCAD SHX Text
BCL(1)-XX

AutoCAD SHX Text
BCL(2)-XX

AutoCAD SHX Text
CAP, 37%%d FLARE

AutoCAD SHX Text
FF01835

AutoCAD SHX Text
4

AutoCAD SHX Text
%%UDI-4X4S-3DL

AutoCAD SHX Text
TO CONTROLLER YELLOW

AutoCAD SHX Text
TO CONTROLLER BLUE

AutoCAD SHX Text
CLAMP (ZONE 2)

AutoCAD SHX Text
CLAMP (ZONE 1)

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
STICKER, YELLOW

AutoCAD SHX Text
STICKER, WHITE

AutoCAD SHX Text
STICKER, BLUE

AutoCAD SHX Text
2214794

AutoCAD SHX Text
2214792

AutoCAD SHX Text
2214793

AutoCAD SHX Text
STICKER, BLACK

AutoCAD SHX Text
2214791

AutoCAD SHX Text
2

AutoCAD SHX Text
BLACK

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
TO CONTROLLER BLACK

AutoCAD SHX Text
CLAMP (ZONE 4)

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
RCR(1)

AutoCAD SHX Text
RMCZ1R(1)

AutoCAD SHX Text
DRM

AutoCAD SHX Text
DRMR(1)

AutoCAD SHX Text
DRR(1)

AutoCAD SHX Text
DRR(2)

AutoCAD SHX Text
DRR(3)

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
DRM-XX

AutoCAD SHX Text
DRMR(1)-XX

AutoCAD SHX Text
DRR(1)-XX

AutoCAD SHX Text
DRR(2)-XX

AutoCAD SHX Text
DRR(3)-XX

AutoCAD SHX Text
AT THEIR FACILITY

AutoCAD SHX Text
SHEET                     DRAWING NUMBER

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
INSTALLATION KIT

AutoCAD SHX Text
DI-4X4S-3DL

AutoCAD SHX Text
1 of 1

AutoCAD SHX Text
N.T.S.

AutoCAD SHX Text
PFA, INC.

AutoCAD SHX Text
N118 W18251 BUNSEN DRIVE, GERMANTOWN, WI. 53022

AutoCAD SHX Text
262-250-4410, 262-250-4409 (fax), www.pfa-inc.com

AutoCAD SHX Text
HEM  6-5-18

AutoCAD SHX Text
NOTE: WHEN SHIPPING BULK HOSE AND FITTINGS,

AutoCAD SHX Text
SEND THE FOLLOWING QUANTITY OF ITEMS;

AutoCAD SHX Text
HOSE, PART #HO14500, 190 FEET

AutoCAD SHX Text
FITTINGS, PART #FF14502, 52 PIECES

AutoCAD SHX Text
%%URAM

AutoCAD SHX Text
%%UBOLSTER

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
TO CONTROLLER WHITE

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
LIFTER (ZONE 3)

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
TO CONTROLLER YELLOW

AutoCAD SHX Text
TO CONTROLLER BLUE

AutoCAD SHX Text
CLAMP (ZONE 2)

AutoCAD SHX Text
CLAMP (ZONE 1)

AutoCAD SHX Text
TO CONTROLLER BLACK

AutoCAD SHX Text
CLAMP (ZONE 4)

AutoCAD SHX Text
B

AutoCAD SHX Text
B


	Sheets and Views
	Model


